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129,4
<л=. ₽

46,8
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6,0
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•  4768т8е пDо876одEт6е==о9 коопеD4F88 – EтDо8телLEт6о <OEопеDеD454тK64NIе7о FеE4 (7о6Oд8=4 8 телOт8=4, <OEо
� ! 8 пт8FK, 74куп4е<ое пDе8<уIеEт6е==о у К$% 8 Л�% =4 теDD8тоD88 'поDо6Eко7о D49о=4) <оI=оEтLN 1 тKE.
то==/7од8 FеE4 ED4=е=8O<OE=KEполуD45D8к4то6 E ед8=о6Dе<е==о96<еEт8<оEтLN<оDо78лL=о9 к4<еDK 60 то==.• �Dо876одEт6е==4O EтD4те78O: 877ото6ле=8е Eт4=д4Dт87о64==о9 пDодукF88 6KEоко7о к4GеEт64 (7улOH, D4DH, 4=тDекот,
Eупо6о9 =45оD, 6KDе7к4 8 пD.) – потDе5ует D47D45отк8 Eт4=д4Dто6 пD8=8<4е<о7о EKDLO, теE=оло78GеEко7о,
6етеD8=4D=о7о8 DеEуDE=о7о EопDо6о6де=8OК$% 8 Л�%;• �4Dкет8=7о64O EтD4те78O:Dе4л874F8е9 пDодукF88 под ед8=K<5Dе=до<;• �4лL=е9H4OпеDEпект864 – т8D468Dо64=8еDоD<4т4 587=еE4=4 теDD8тоD88 дDу78E�О &N<е=Eко9о5л4Eт8.

✓ !елLEкоEо7O9Eт6е==Kе о5Jед8=е=8O &N<е=Eко9 о5л4Eт8/К$% 8 Л�% 'поDо6Eко7о 8 EоEед=8E D49о=о6
✓Опто6о-Dо7=8G=Kе тоD7о6Kе Eет8 (6 пеD6уN оGеDедL Dе78о=4лL=о7о DоD<4т4)
✓ �DедпD8Oт8O Eе7<е=т4 HoReCa

• �DедоEт46ле=8е уG4Eтк4 E под6еде==K<8 ко<<у=8к4F8O<8• !у5E8д8Dо64=8е D4EEодо6 =4 пD8о5Dете=8е о5оDудо64=8O, EтDо8телLEт6о• �оддеD6к4 6 G4Eт8 пDедоEт46ле=8O Fеле6KE 749<о6 / пDедоEт46ле=8O 
74D4=т89• ОD74=874F8о==4O поддеD6к4 6 G4Eт8 D47D45отк8 <одел8 коопеD4F88

• ОD74=874F8о==4O поддеD6к4 6 G4Eт8 6KEод4 =4 D8те9леDо6• ОD74=874F8о==4O поддеD6к4 пD8 полуGе=88 =ео5Eод8<о9 D47DеH8телL=о9 
доку<е=т4F88• �о<оIL 6 под7ото6к8 к4дDо6

�оте=F84лP=Oе п4Dт=еDO

23,2%

ОD74=874F8я пеDеD45отк8 <яE4 (74куп4е<о7о у Л�% 8 К$%): <яEо, <яE=Oе 
полуD45D8к4тO, кол54E=Oе 87дел8я, туHе=к4 
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! ОК  
ОК'��Е�О!&�

���Е!&�&�� NPV

(60 <еE.)
О�О О&�Ы�
К���&�Л

IRR (BHP)

✓ �е<елL=K9 уG4Eток: 2,4 тKE. к6. <. E под6еде==K<8 ко<<у=8к4F8O<8
(MлектDоM=еD78O – К&� 250 к�т, 6одоE=456е=8е – о5уEтDо9Eт6о Eк6468=K,
D476одк4 Eете9 6одопDо6од4, к4=4л874F88, теплоE=456е=8е);

✓�Dо876одEт6е==Kе FеE4 8 Eолод8лL=Kе Eкл4дK плоI4дLN 1,09 тKE. к6. <.;

✓ К4дDо6ое о5еEпеGе=8е: 47 Gело6ек, <еEт=Kе к4дDK;

✓ &еE=оло78O: пD87л4Hе==K9 теE=оло7 пDо876одEт64.

✓�4 34,7% у6ел8G8л8EL о5Jе<K пDо876одEт64 <OE=KE полуD45D8к4то6 6 &N<е=Eко9 о5л4Eт8 74 пеD6ое полу7од8е
2022 7од4, т4к6е =4 18,9% 6о7DоEл8 о5Jе<K пDо876одEт64 ко=EеD6о6;

✓ �Eе7о E O=64DO по 8NлL 20227. Eо7O9Eт64 &N<е=Eко9 о5л4Eт8 пDо876ел8 107,5 тKE. то== Eкот4 8 пт8FK =4 у5о9;

✓ !Dед=едуHе6ое потDе5ле=8е 7о6Oд8=K 6  оEE88 6 20227. около 14 к7. 6 7од пD8 Dеко<е=до64==о< потDе5ле=88 -

20 к7., т4к8< о5D47о<, E уGето< =4Eеле=8O 'поDо6Eко7о 8 EоEед=8E D49о=о6 (�46одоуко6Eк89, ЯлутоDо6Eк89,
�EетEк89 8 АD<87о=Eк89), пеDEпект864 DоEт4 о5Jе<4 потDе5ле=8O =4 д4==о9 теDD8тоD88 EоEт468т 529 то== 6
7од, 4 по Dе78о=у – 22,7 тKE. то== 6 7од – Eт458лL=K9 DK=ок E5Kт4 =епоEDедEт6е==о =4 теDD8тоD88 о5л4Eт8;

✓�D8 6KEоде =4 теDD8тоD88 EоEед=8E Dе78о=о6 (%�АО, Я�АО) DK=ок 7=4G8телL=о D4EH8DOетEO.

О5еEпеGе==оEтP EпDоEо<О5еEпеGе==оEтP DеEуDE4<8

!утP пDоект4

�оEуд4DEт6е==4я поддеD6к4

�оте=F84лP=Oе 8=6еEтоDO
!<. Eл49д «�DоектK, пDедло6е==Kе 587=еEо<»



68
<еE.

188,8
<л=. ₽

44,4
<л=. ₽

8,6
<л=. ₽

• !тDо8телLEт6о пDедпD8Oт8O по пDо876одEт6у к4DтоDелL=о7о кD4E<4л4 8 6KпуEку Eу5л8<8Dо64==о7о к4DтоDелO длO
=у6дHoReCa E <оI=оEтLNпеDеD45отк8 до 7 тKE. то== EKDLO 6 7од;• �DедпD8Oт8NпотDе5уетEO EтDо8телLEт6о Eо5Eт6е==о7оо6оIеED4=8л8I4 6<еEт8<оEтLN 3,5-5 тKE. то==;• !тD4те78O пDо876одEт64: ко<плекE=ое оE=4Iе=8е 6KEокотеE=оло78G=K< 46то<4т878Dо64==K< о5оDудо64=8е< длO
пD8е<4, 7лу5око9 пеDеD45отк8 8 уп4ко6к8; пDо876од8телL=оEтL– от 1 тKE. то== 7ото6о9 пDодукF88 6 7од;• !KDLе длO пеDеD45отк8 (к4DтоDелL) пDедпол474етEO 74куп4тL у <еEт=KE К$% 8 Л�% 'поDо6Eко7о D49о=4 (=4
пD8=F8п4E пDо876одEт6е==о9 коопеD4F88 – потDе5уетEO Eт4=д4Dт874F8O, о5еEпеGе=8е поE4доG=K< <4теD84ло< 8
теE=оло78GеEкое ко=EулLт8Dо64=8е), 4 т4к6е кDуп=KE EелLEкоEо7O9Eт6е==KEпDедпD8Oт89N74 &N<е=Eко9о5л4Eт8;• �4лL=е9H4OпеDEпект864 – D4EH8Dе=8е 4EEоDт8<е=т4 пDо876од8<о9 пDодукF88 (пDо876одEт6о EлопLе6 8 <ук8).

✓ !ете6Kе тоD7о6Kе опеD4тоDK, Dо7=8G=Kе тоD7о6Kе Eет8 (6 пеD6уN оGеDедL Dе78о=4лL=о7о DоD<4т4);
✓ КDуп=Kе 47Dоко<плекEK Dе78о=4, Л�% 8 К$%.

• �DедоEт46ле=8е пDо876одEт6е==о7о по<еIе=8O E лL7от=K<8 уEло68O<8 
4Dе=дK / пDедоEт46ле=8е 7е<елL=о7о уG4Eтк4 E ко<<у=8к4F8O<8• !у5E8д8Dо64=8е D4EEодо6 =4 пD8о5Dете=8е пDо876одEт6е==о7о 
о5оDудо64=8O/EтDо8телLEт6о• �оддеD6к4 6 G4Eт8 пDедоEт46ле=8O Fеле6KE 749<о6 / пDедоEт46ле=8O 74D4=т89• �DедоEт46ле=8е =4ло7о6KE пDеDеDе=F89

• ОD74=874F8о==4O поддеD6к4 6 Eо7д4=88 Dе78о=4лL=о7о 5Dе=д4 8 е7о пDод686е=88 =4 
<е6Dе78о=4лL=о< DK=ке• �опулOD874F8O пDодукF88 пDедпD8Oт89 д4==о7о пDоD8лO =4 Dе78о=4лL=о< уDо6=е

�оте=F84лP=Oе п4Dт=еDO

14,8%

ОD74=874F8я 7лу5око9 пеDеD45отк8 к4DтоDеля (пDо876одEт6о EлопPе6, кD4E<4л4) 
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! ОК  
ОК'��Е�О!&�

���Е!&�&�� NPV

(84 <еE.)
О�О О&�Ы�
К���&�Л

IRR (BHP)

✓ !KDLе6о9 DеEуDE: 6 &N<е=Eко9 о5л4Eт8 =4 10.2022 7. 5Kло Eо5D4=о 234 тKE.

то== к4DтоDелO;

✓ �е<елL=K9 уG4Eток длO D47<еIе=8O пDо876одEт64: 0,8 �4, E по6еде==о9
MлектDоM=еD78е9, 6одо9 8 747о<;

✓�Dо876одEт6о 8 ED4=е=8е EKDLO <о6ет 5KтL оD74=87о64=о =4 547е
4Dе=дуе<о7о 8л8 пD8о5Dете==о7о 8<уIеEт64 о5Iе9 плоI4дLN – 5,4 тKE. к6.

<. (оEо5Kе уEло68O к пDот86опо64D=о9 5е7оп4E=оEт8 8 6одоот6еде=8N);
✓(т4т – 52 Gело6ек4 (<еEт=Kе к4дDK);
✓ &еE=оло78O – пD86леGе=8е отD4Eле6о7о теE=оло74.

✓ �4 5 лет 6KпуEк =4туD4лL=KE кD4E<4ло6 6  $ 6KDоE =4 46%; 6 20217. пDо876одEт6о EоEт468ло 353 тKE. то==, Gто
=4 9% 6KHе уDо6=O 20207.; 74 1 к6. 20227. пDо876одEт6о у6ел8G8лоEL =4 15,8% к 4=4ло78G=о<у пеD8оду 20217.;

✓�то78 20217. E4D4ктеD87уNтEO т4к6е 8 6KEок8< пD8DоEто< пок474теле9 8<поDт4, =4 46,2% к 20207. (6 8<поDте
56% пD8Eод8тEO =4 к4DтоDелL=K9 кD4E<4л, пDо876одEт6о котоDо7о =едоEт4тоG=о длO покDKт8O потDе5=оEте9; 6
EтDуктуDе 6=утDе==е7о пDо876одEт64 к4DтоDелL=K9 кD4E<4л 74=8<4ет поDOдк4 3,5%) - Eт458лL=K9 DK=ок E5Kт4
=4 6=утDе==е< DK=ке;

✓ �EтL поте=F84л MкEпоDт4 (6 20217. от<еG4NтEO п8ко6Kе 7=4Gе=8O пDод46 кD4E<4ло6 74 7D4=8Fу - 49 тKE. то==,
Gто =4 69% 6KHе пок474теле9 20207.).

О5еEпеGе==оEтP EпDоEо<О5еEпеGе==оEтP DеEуDE4<8

!утP пDоект4

�оEуд4DEт6е==4я поддеD6к4

�оте=F84лP=Oе 8=6еEтоDO
!<. Eл49д «�DоектK, пDедло6е==Kе 587=еEо<»



�оEуд4DEт6е==4я поддеD6к4

ОD74=874F8я тепл8G=о7о Eо7я9Eт64 (о6оI8, 7еле=P, я7од4) 

! ОК  
ОК'��Е�О!&�

58
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���Е!&�&��
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NPV

(84 <еE.)

159
<л=. ₽

О�О О&�Ы�
К���&�Л

9,8
<л=.₽

20,1%

IRR (BHP)

!утP пDоект4

• !тDо8телLEт6о 8 MкEплу4т4F8Oтепл8G=о7о ко<плекE4 – 6KD4I864=8е о6оI=о9 пDодукF88, 7еле=8, O7од;• �лоI4дL тепл8G=о7о ко<плекE4 4,5 74.; оD74=874F8O пDо876одEт64 – 78дDопо==4O теE=оло78O; оD74=874F8O
M=еD7оо5еEпеGе=8O– E 8EполL7о64=8е<58о747о6KE уEт4=о6ок (ут8л874F8OотEодо6 686от=о6одEт64);• �DодукF8O: то<4тK, о7уDFK, E6е64O 7еле=L, O7од4. �D8 74д4==KE п4D4<етD4E 64ло6K9 E5оD пDедпD8Oт8O EоEт468т
до 1,4-1,8 тKE. то== пDодукF88 6 7од;• &D4=EпоDт8Dо6к46 тоGк8 Dе4л874F88 пDодукF88 – Eо5Eт6е==K<тD4=EпоDто</E4<о6K6о7;• �4лL=е9H4O пеDEпект864 – у6ел8Gе=8е 4EEоDт8<е=т4 6KD4I864е<о9 пDодукF88, оE6ое=8е =о6KE DK=ко6,
D4EH8Dе=8е плоI4де9 тепл8G=о7о ко<плекE4.

✓ 'G4Eток длO D47<еIе=8O тепл8G=о7о ко<плекE4 1,8 �4 (E4< ко<плекE – 1,4 �4);
✓О5еEпеGе==оEтL 87 D4EGет4 =4 1 �4 тепл8FK: 6одоE=456е=8е – 180 ку5.<.,

MлектDоM=еD78O К&� - 250 к�т;
✓ К4дDо6ое о5еEпеGе=8е: 28 Gело6ек (<еEт=Kе к4дDK)
✓ !пеF84л878Dо64==4O теE=8к4 8 о5оDудо64=8е (<8=8-тD4ктоD, 7Dу7. 46т.,

E8Eте<4 отопле=8O 8 пол864).
✓ &еE=оло78O: пD86леGе=8е теE=оло7о6 E де9Eт6уNI8E пDо876одEт6.

✓�8Dо6о9 DK=ок о6оIе9 74кDKто7о 7Dу=т4 D4Eтет – MкEпеDтK оFе=864Nт те<пK DоEт4 плоI4де9 6 11% 6 7од;

✓ &N<е=Eк4O о5л4EтL пол=оEтLN о5еEпеG864ет Eе5O о6оI4<8 74кDKто7о 7Dу=т4, =о, пD8 Mто< потDе5ле=8е
о6оIе9 8 54EGе6KE 6 &N<е=Eко9 о5л4Eт8 =86е уDо6=O =оD<K (пD8<еD=о 110 к7., пD8 =оD<е 6 140 к7. =4 Gел.).

&4к8< о5D47о<, <о6=о 7о6оD8тL о пеDEпект86е DоEт4 DK=к4 =4 10-15%, Gто EоEт46лOет 2,3-3,5 тKE. то==.

о6оIе9 74кDKто7о 7Dу=т4. &4к6е, 8<еетEO 7=4G8телL=K9 поте=F84л 6 =4пD46ле=88 ко=EеD64F88 о6оI=о9
пDодукF88 (тDе5уетEO под5оD EоDто6).

✓�D8 6KEоде =4 теDD8тоD88 EоEед=8E Dе78о=о6 DK=ок 7=4G8телL=о D4EH8DOетEO.

О5еEпеGе==оEтP EпDоEо<О5еEпеGе==оEтP DеEуDE4<8

✓ &еE=оло788: коDпоD4F8O «���О&�К», ООО «�К$ &епл8G=Kе &еE=оло788», ООО «�Dо<&епл8F�Dоект», ООО
«� О$�&-А� О»

✓�Dод468: &N<е=Eк4O (6 т. G.: %�АО 8 Я�АО), КуD74=Eк4O 8 О<Eк4O о5л4Eт8, DеEпу5л8к4 К474EEт4= (Eе6еD=4O
о5л4EтL) – тоD7о6Kе Eет8, оD74=874F88 опто6о9 тоD7о6л8; оD74=874F88 Eе7<е=т4 HoReCa

�оте=F84лP=Oе п4Dт=еDO

• �DедоEт46ле=8е 7е<елL=о7о уG4Eтк4 E под6еде==K<8 ко<<у=8к4F8O<8 / 
под6еде=8е ко<<у=8к4F89 =4 оE=о6е �'� / �'�• !у5E8д8Dо64=8е D4EEодо6 =4 пD8о5Dете=8е о5оDудо64=8O, EтDо8телLEт6о• �оддеD6к4 6 G4Eт8 пDедоEт46ле=8O 74D4=т89

4

�оEуд4DEт6е==4я поддеD6к4

�оте=F84лP=Oе 8=6еEтоDO
!<. Eл49д «�DоектK, пDедло6е==Kе 587=еEо<»

• ОD74=874F8O пеDе7о6оDо6 E тоD7о6K<8 EетO<8 =4 Dе78о=4лL=о< уDо6=е• ОD74=874F8о==4O поддеD6к4 пD8 полуGе=88 =ео5Eод8<о9 D47DеH8телL=о9 доку<е=т4F88• �о<оIL 6 под7ото6к8 к4дDо6



46
<еE.

164,2
<л=.₽

38,6
<л=. ₽

5,3
<л=. ₽

�оте=F84лP=Oе п4Dт=еDO

17,5%

ОD74=874F8я пDо876одEт64 коD<о6 для до<4H=8E 686от=OE =4 оE=о6е отEодо6 
686от=о6одEт64 8 D4Eте=8е6одEт64 
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! ОК  
ОК'��Е�О!&�

���Е!&�&�� NPV

(72 <еE.)
О�О О&�Ы�
К���&�Л

IRR (BHP)

✓�е<елL=K9 уG4Eток длO D47<еIе=8O пDо876одEт64 – до 2,5 тKE. к6. <. E
под6еде==о9 MлектDоM=еD78е9 8 747о</пDо876одEт6е==Kе по<еIе=8O о5Iе9
плоI4дLN – 1,6 тKE. к6. <.;

✓�еD=о6Kе, 5елко64O <4EE4 (отEодK 686от=о6одEт64) – пDедпD8Oт8O А�К
&N<е=Eко9 о5л4Eт8; <4Eле=8G=Kе, 68т4<8=K, <8кDоMле<е=тK – 746о7=ое;

✓(т4т – 34 Gело6ек4 (<еEт=Kе к4дDK);
✓&еE=оло78O – пD86леGе=8е отD4Eле6о7о теE=оло74; поEт46I8к о5оDудо64=8O.

О5еEпеGе==оEтP EпDоEо<О5еEпеGе==оEтP DеEуDE4<8

!утP пDоект4

�оEуд4DEт6е==4я поддеD6к4

• !о7д4=8е пDедпD8Oт8O по пDо876одEт6у коD<о6 длO до<4H=8E 686от=KE E о5Jе<о< 6KпуEк4 до 15 тKE. то==
7ото6о9 пDодукF88 6 7од. АEEоDт8<е=т пDо876од8<о9 пDодукF88 оD8е=т8Dо64=, пDе6де 6Eе7о, =4 до<4H=8E
686от=KE; =е7=4G8телL=Kе о5Jе<K пDо876одEт64 FелеEоо5D47=о оD8е=т8Dо64тL =4 EпеF84л878Dо64==Kе
коD<4 длO пт8F, E68=е9, кDол8ко6 (пDе8<уIеEт6е==о длO К$% 8 Л�%) – д86еDE8D8к4F8O E5Kт4;

• !тDо8телLEт6о E =улO – оEо5Kе тDе5о64=8O к пDо876одEт6е==о<у по<еIе=8N по 6KEоте;

• �еDEпект864 D4768т8O пDедпD8Oт8O – пDе<8кEK, 5елко6о-68т4<8==о-<8=еD4лL=Kе ко=Fе=тD4тK длO =8Hе6KE
68до6 EелLEкоEо7O9Eт6е==KE 686от=KE, пт8FK 8 DK5.

✓ !отDуд=8GеEт6о E д8EтD85LNтоD4<8 по теDD8тоD88 &N<е=Eко9 о5л4Eт8 8 дDу78E Dе78о=о6  $
✓�еEт=Kе К$% 8 Л�% 8 дDу78е EелLEкоEо7O9Eт6е==Kе о5Jед8=е=8O
✓ �оEуд4DEт6е==K9 47D4D=K9 у=86еDE8тет !е6еD=о7о �4уD4лLO

• ОD74=874F8O пеDе7о6оDо6 E поте=F84лL=K<8 п4Dт=еD4<8• �оддеD6к4 пDедпD8Oт8O 6 G4Eт8 6KEод4 =4 MкEпоDт=Kе DK=к8• �о<оIL 6 под7ото6ке к4дDо6• ОD74=874F8о==4O поддеD6к4 6 G4Eт8 оD74=874F88 пDод686е=8O пDедпD8Oт8O =4 DK=к8 EоEед=8E �О• ОD74=874F8о==4O поддеD6к4 6 G4Eт8 пDоEо6де=8O =ео5Eод8<KE пDоFедуD EеDт8D8к4F88

✓ оEE8O 6Eод8т 6 топ EтD4= по G8Eлу до<4H=8E 686от=KE: по кол8GеEт6у коHек – =4 тDетLе< <еEте, по
кол8GеEт6у Eо54к – =4 Gет6еDто<; до<4H=8е 686от=Kе еEтL 6 59% DоEE89Eк8E до<оEо7O9Eт6;

✓!о7л4E=о д4==K< Mars Petcare до<4 у DоEE8O= EодеD68тEO 63,5 <8лл8о=4 до<4H=8E коHек 8 Eо54к; пD8 Mто<
74 поEлед=8е тD8 7од4 кол8GеEт6о до<4H=8E п8то<Fе6 6KDоEло =4 12 <8лл8о=о6;

✓� 2022 7оду 6Eе к4те7оD88 6 8=дуEтD88 то64Dо6 длO до<4H=8E 686от=KE д8=4<8G=о D476864л8EL к4к 6 о=л49=,
т4к 8 6 оDл49=-к4=4ле: 6 =4туD4лL=о< 6KD46е=88 потDе5ле=8е коD<о6 6KDоEло =4: 9,3% - длO Eо54к, 5,6% -

длO коHек (6,4% - 6 EDед=е< по DK=ку);
✓ !о7л4E=о Data Insight Eе7<е=т 7оото64Dо6 Eт4л од=8< 87 E4<KE 5KEтDоD4EтуI8E – 74 12 <еEOFе6 кол8GеEт6о

8=теD=ет-74к47о6 6KDоEло =4 105%, 4 о5Jе< о=л49=-пDод46 у6ел8G8лEO =4 73% по ED46=е=8N E 2021 7одо<.

• �DедоEт46ле=8е плоI4дк8 пDо<KHле==о7о =47=4Gе=8O E под6еде==K<8 
ко<<у=8к4F8O<8• !у5E8д8Dо64=8е D4EEодо6 =4 пD8о5Dете=8е пDо876одEт6е==о7о 
о5оDудо64=8O / EтDо8телLEт6о• �оддеD6к4 6 G4Eт8 пDедоEт46ле=8O Fеле6KE 749<о6 / пDедоEт46ле=8O 
74D4=т89

�оте=F84лP=Oе 8=6еEтоDO
!<. Eл49д «�DоектK, пDедло6е==Kе 587=еEо<»



64
<еE.

125,3
<л=.₽

77,5
<л=. ₽

2,4
<л=. ₽

�оте=F84лP=Oе п4Dт=еDO

22,0%

ОткDOт8е у=86еDE4лP=о7о Fе=тD4 5Oто6OE уEлу7: Dе<о=т теE=8к8 8 о5оDудо64=8я, поH86, Dе<о=т 8 G8Eтк4 
оде6дO, Dе<о=т о5у68, E8<G8Eтк4, 877ото6ле=8е 8 Dе<о=т 8=6е=т4Dя, <е5ел8, уEлу78 п4D8к<4EеDEко9 8 E4ло=4 кD4EотO 

6

! ОК  
ОК'��Е�О!&�

���Е!&�&�� NPV

(96 <еE.)
О�О О&�Ы�
К���&�Л

IRR (BHP)

✓ �е<елL=K9 уG4Eток от 0,45 �4; EтDо8телLEт6о 7д4=8O о5Iе9 плоI4дLN 3,5

тKE. к6. <. E 6о7<о6=оEтLN подклNGе=8O ко<<у=8к4F89 8 удо5=о9
тD4=EпоDт=о9 D476O7ко9 (E. 'поDо6о) / пDедоEт46ле=8е 8<еNIе7оEO
<у=8F8п4лL=о7о 8<уIеEт64, подEодOIе7о под тDе5о64=8O к оD74=874F88
Fе=тD4 5Kто6KE уEлу7;

✓ К4дDо6ое о5еEпеGе=8е: 34 Gело6ек4, <еEт=Kе к4дDK;

✓ &еE=оло78O: упD46лONI4O ко<п4=8O (пD86леGе=8е 6=еH=8E ко=EулLт4=то6).

О5еEпеGе==оEтP EпDоEо<О5еEпеGе==оEтP DеEуDE4<8

!утP пDоект4

�оEуд4DEт6е==4я поддеD6к4

• !о7д4=8е EоF84лL=о 7=4G8<о7о о5Jект4: ко<плекE=ое о5еEпеGе=8е =4Eеле=8O 6оEтDе5о64==K<8 уEлу74<8 6
од=о< Fе=тDе; о5еEпеGе=8е Eт458лL=K< 8 MDDект86=K< к4=4ло< пDод46 E4<о74=OтKE 6 EDеDе 5Kто6KE уEлу7;

• О5Jект - <=о7оDу=кF8о=4лL=K9 Fе=тD 5Kто6KE уEлу7, 6 EоEт46е котоDо7о 5удут пDедEт46ле=K: E4ло= кD4EотK,
поH86 8 Dе<о=т оде6дK, EеD68E 5Kто6о9 теE=8к8, 877ото6ле=8е 8 Dе<о=т теE=8к8, о5оDудо64=8O, 8=6е=т4DO 8
дD.; о5I4O плоI4дL пDо876одEт6е==о-тоD7о6KE по<еIе=89 EоEт468т до 3000 к6. <.;

• �лO о5еEпеGе=8O доEтуп=оEт8 уEлу7 68телO< отд4ле==KE теDD8тоD89, <4ло<о58лL=K< к4те7оD8O< 7D46д4=
<о6ет 5KтL оD74=87о64= 6Kе7д=о9 DоD<4т E5оD4 74к47о6 8 доEт46к8.

✓�еEт=Kе пDедпD8=8<4тел8 (��, E4<о74=OтKе)
✓ Ад<8=8EтD4F8O 'поDо6Eко7о <у=8F8п4лL=о7о D49о=4
✓ &оD7о6Kе Fе=тDK � 

• ОD74=874F8о==4O поддеD6к4 пD8 оD74=874F88 пеDе7о6оDо6 E OкоD=K<8 4Dе=д4тоD4<8 о5Jект4• �=DоD<4F8о==ое Eоде9Eт68е – о5еEпеGе=8е Eу5Jекто6 пDедпD8=8<4телLEт64 4кту4лL=K<8 
E6еде=8O<8• ОD74=874F8O пеDе7о6оDо6 E поте=F84лL=K<8 п4Dт=еD4<8

✓ �Eе7о 6  оEE88 6 к4GеEт6е E4<о74=OтKE 74Dе78EтD8Dо64=K 5олее 5,8 <л=. Gел.; по д4==K< =4 09.20227. 6
&N<е=Eко9 о5л4Eт8 (5е7 уGет4 46то=о<=KE окDу7о6) 74Dе78EтD8Dо64=о 64,7 тKE. Gел.;

✓ !о7д4=8е ед8=о7о пDоEтD4=Eт64, о5Jед8=ONIе7о оE=о6=Kе 74пD4H864е<Kе уEлу78 =4Eеле=8O, Eо7д4Eт
74D4=т8Dо64==K9 поток потDе58теле9 (потDе5=оEтL 6 Eо7д4=88 о5Jед8=ONIе9 к4GеEт6е==о9 плоI4дк8
6KO6ле=4 6 4=кет8Dо64=88, 6 Eоде 8=теD6LN E пDедпD8=8<4телO<8 8 6о 6Dе<O EтD4те78GеEко9 EеEE88);

✓ Кол8GеEт6о Eу5Jекто6 �!� 6 'поDо6Eко< D49о=е EоEт46лOет 339 ед. (74=Oто около 2 тKE. Gел.), т4к8< о5D47о<
Fе=тD (D4EEG8т4==K9 =4 50-70 Dе78де=то6) о5еEпеG8т до 20% <еEт=KE пDедпD8=8<4теле9 к4GеEт6е==K<8
EпеF84л878Dо64==K<8 пDо876одEт6е==о-тоD7о6K<8 плоI4дO<8 E пDедоEт46ле=8е< допол=8телL=KE уEлу7
(5е7 уGет4 пDо7=о78Dуе<о7о пD8DоEт4 74 EGет E4<о74=OтKE).

• �DедоEт46ле=8е уG4Eтк4 E под6еде==K<8 ко<<у=8к4F8O<8 / под6еде=8е 
ко<<у=8к4F89 =4 оE=о6е �'� / �'� / пDедоEт46ле=8е 7ото6о7о по<еIе=8O• �оддеD6к4 6 G4Eт8 пDедоEт46ле=8O Fеле6KE 749<о6 / пDедоEт46ле=8O 
74D4=т89• �DедоEт46ле=8е =4ло7о6KE пDеDеDе=F89

�оте=F84лP=Oе 8=6еEтоDO
!<. Eл49д «�DоектK, пDедло6е==Kе 587=еEо<»
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